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It is mandatory to fill one option for each question.

All questions carry equal marks.

Only one answer is to be given for each question. If more than

one answers are marked, 1t would be treated as WIOng answer.

The OMR Answer Sheet is inside this Question Booklet.

When you are directed to open the Question Booklet, take

out the Answer Sheet and fill in the particulars carefully with

Blue Ball Point Pen onlﬁ

5. Please correctly fill your Roll Number in OMR Answer
Islhelet' Candidate will tgemself be responsible for filling wrong

oll No.

6. Use of Correction Pen/Whitner in the OMR Answer
Sheet is striclty forbidden.

7. 1/3 part of the mark(s) of each question will be deducted
for each wrong answer. A Wrong answer means an incorrect
answer or more than one answers for any question.

8. Each question has five options marked as 1, 2, 3, 4, 5.
You have to darken only one -circle (bubble)

_indicating the correct answer on the Answer Sheet
using BL%E BALL POINT PEN,

9. If you are not attemg;ting a question then you have to
darken the circle ‘5’. If none of the five circles is |

darkened, one third (1/3) part

uestion shall be deducted.
fter solving question paper, candidate must
ascertain that he/she has darkened ome of the circles

(bubbles) for each of the questions. Extra time of 10

minutes beyond scheduled time, is provided for this.

. A candidate who has not darkened any of the five circles

in more than 10% questions shall be disqualified.

If there is any sort of ambiguity/mistake either of printing

or factual nature then out of Hindi and English Versions of

the question, the English Version will be treated as standard.

Mobile Phone or any other electronic gadget in the

examination hall is strictly prohibited. A candidate found

with any of such objectionable material with him/her will be
strictly dealt as per rules.

Warning : If a candidate is found copying or if any unauthorized

material is found in his/her possession, %.I.R. would be lodged

against him/her in the Police Station and he/she would liable to be
prosecuted under Rajasthan Public Examination (Measures

for Prevention of Unfair Means in Recruitment) Act, 2022

& any other laws applicable and Commission’s Rules-

Regulations. Commission may also debar him/her permanently

from all future examinations.
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According to which of the following
article of Indian Constitution -
“the Supreme Court shall have
power to review any judgment
pronounced or order made by it” ?

(1) Article 143
(2) Article 137
(3) Article 136

+(4) Article 134

(5) Question not.attempted:

- b

Which of the following case is

Supreme  Court’s

judgment about-the powers of the

Governor. to decide the claim of

majority of the government ?

(1) Rameshwar Prasad v/s Union
of India (2006)

(2) Anil Kumar Sharma vis

. Union of India (2005)

(3) Jagdambika Palesh v/s.Union

 of India (1998) |

(4) T.R. Kapoor v/s State of Tamil
Nadu (2001)

(5) Question not attempted

Which of the following articles of
thé Constitution of India is related
to the oath or affirmation by

members of State Legislative
Assembly ?

(1) 186 2 187

(8) 188 (4) 189

(5) Question not aﬁtemﬁted
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Which of the following pair is not
correct regarding Indlg.n state and
Legislature seats ? ™ i

(Legislature
(Stai;e) seats)
(1) Karnataka 226
'(2) Kerala 140
" (8) Madhya Pradesh 230
@(4) Maharashtra - 288

ﬁ&?) Question not attempted’
g'wWhmh of the following statement is

Mot correct ‘regarding qualification

for -appointment of Judge in the
High Court ?
(1) He should be a citizen of India.
ﬁ“’(;2) He has for atleast ten years
*held a Judicial office in the
@‘.@l territory of India.
() He is in the opinion of the
President'a distinguished Jurist,
(4) He has for atleast ten years
been an advocate of a High
Court or of two or more such
Courts-in succession:
5:"'%5) Question not attempted
@gyyhlch of the following pairs is not
E"‘correctly matched ?

(1) Article — Powers of superinten-

227 dence over all courts

by the High Court
(2) -Article — Establishment of a

@'y 228 common High Court

% for two or more states

%3.2 Article —~ Officers and servants

Pos 229 and the expenses of
High Court

(4) Article— Extension of juris-
230 diction of High Courts
to union territories
(6) Question not attempted ¢
-
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In which of the following Sectiozis
of the Rajasthan Panchaydti Raj
Act, 1994 the powers, functions
and duties of Sarpanch and
Upsarpanch is mentioned ?

"(1) Section 30 (2) Section 81

(3) Section 32 (4) Section 33
(5) Question not attempted

According to which of the following
article of Indian Constitution the
conduct of all. elections to the
panchayats shall be vested in a
State Election Commission ?
(1) 243-K (2) 243-1
(38) 243-D (4) 243-G
(5) Question not attempted

Consider the following statements
regarding Panchayati Raj in India :
() During the second five year
plan, the Planning Commission
appointed a Committee under
the Chairmanship of Balwant
Rai Mehta in 1956 to review
the community development
_ programme.

(i) Mehta committee said in its
report that the community
development programme
failed because it could not
generate the required interest
among the lacal people.

(i) G.KV. Rao Committee was
constituted by the Planning
Commission in 1985.

Select the correct answer using the

© codes :

Codes:

(1) Only (i) and (11) are correct.
(2) Only (@) and (iiiy are correct.
(8) Only (iiy and (iii) are correct.
(4) (), (ii) and (iii). all are correct.
(5) Question not attempted
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10. Consider the following statements :

(I} The 74t Constitutional
Amendment Act came into
force on 25 April, 1993.

(II) The 74th Constitutional
Amendment Act empowered
urban local bodies to perform
18 functions listed in the 12th
schedule. :

Choose the correct option-:

(1) Onlystatement (I) is correct.

(2) Only statement (II) is correct.

(8) Both statements (I) and (II)
are correct.

(4 Both statements (I) and (II)
are incorrect.

(6) Question not attempted

Which of the following committees/
commission has not been related to
urban administration-in India ?

(1) John Mathai Commission

@) Girijapati Mukherjee Committee
(8) Y.B. Chavan Committee

(4) Rafiq Zakaria Committee

(6) Question not attempted

Consider the following statements
regarding voting behaviour in
Iridian politics :
(i) Voters’ behaviour is influenced
. by socio-economic factors.
@) ‘Voters’ behaviour is greatly
influenced by religion and caste.

(ii) At present, voters participate

in elections in a completely
ordered manner.
Select the correct answer using the
codes :
Codes :
(1) Only (i) is correct.
(2) Only (i) and (ii).are correct.
(3) Only (ii) and (iii) are,correct. "
(4) (), (ii) and (iii) all are correct.
(5) Question not'attempted
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Consider the followmg statements
regarding the party system in
- India :
(i) The Shiromarmni Akali Dal was
established in 1925.

(i) Shiromani Akali Dal had
g strongly épposeéd the demand

¢n  for Pakistan.- /

i#ii) The Telugu Desam Party

g:: came into existence in Andhra

Pradesh in February 1984.

Select the correct answer using the
codes : ¢
Codes: ,
(1) Only (@) is corréct.~

%@) Only (ii) is correct. )

@.gg) Only (ii) and (iii) are correct.

t.!('4) (@), (ii) and (i) all arenot correct.

ﬁ“ﬂ(»5) Question not attempted

Consider the following statements
about the Chief - Election
Commissioner and other Election
eCommissioners Act, 2023 :

and other

ﬁg) The Chief
Cémmissioner

Election Commissioners shall
5""'“ be appointed by the President
on, the recommendation of a
selection committee consisting
of the Prime Mmlster, leader
of opposition in Lok Sabha
and the Chief Justice of the
Supreme Court.

Election

-

%I) A search committee shall
¢ prepare a pafiel of five
gﬁ' persons for consideration of
P the selection committee.

Choose the correct option :

(1) Only statement (I).is true.

(2) Only statement (II) is true.

(3) Both statement @) and (I)
= aretrue.

'(4) Both statement (I) and (IT)
are not true. L

(5) Question not attempted

03




T

et oenet i SRS L
— e =y

——

15. Tr=ifea @ @ fopg affa 3 o7 R 6

it

-
s

el D
=

17.

%

e & g amg AT 25 9 FEer
21 5§ 6 I =T 7 '
(1) iR R &

@ st atfy =

(3 el T afif o

4) .. S ahiy

(6) ITTARG 5%

. S ate 86 % o o - 2024 F
qaﬁﬁﬁm%fﬁaaﬁ%ﬁ:rmmaﬁ
gt ad 8.2 .

(TSHITRS geT 1 (Gﬂ?ﬁmfrzhﬁ
©AM) ﬁa@)
(1) wEgwd - 3
(2) SFaTEH (TRSS) — 12
(8) PSS - B
(4) FrEEgRITET - 3
(5) STTaRE S P

ﬁw%rﬁaammﬁaﬂﬁm i‘:!t:b

5 9, 1947@@@%@
e agEar &g Al e 6
Yo I |

. (1) 1949%:143%11@31&@9{@'

R A T TR iR

Ry i e | 60
wd IR - -

(1) FaAHEI) TAE L
@ aﬁawanmé*l
(3) W(I)qaal)aﬂ‘rwtl

4

& F 0w AL g e |

() Agaid I
"-}» i g fo

-]

15.

16.

Which of the following commjttqg§
“has  recommended that agé

qualification  for “ contesting in

elections to the Legislative Assemblies

and Lok Sabha should be. reduced to

21 years from 25 years ?

(1)- Tarkunde .Committee

(2) Dinesh Goswami Committee

(3) Indrajeet Gupta Committee

4 N.N. Vohia Committee

(5) Question'not dttempted

Which of the following pair is not
correctly matched with reference to
General Election to Parliamentary
Constituencies 20247

(Name of‘the ™ (Number of

Political Party) Seats Won)

(1) Samajwadi Party - 37

(2) Janata Dal - 12
(United)

(3) Rashtriya Janata — 5
Dal

4 Jhar];hand Mukti — 3
Morcha

(6) Question not attempted

-1 17. Consider the following statements :

@ aﬁﬁfﬁtmtrﬁlaaﬁmﬂami

(I) The US Secretary of Defence
George Marshall announced
the Marshall Plan to provide
economic help to Greece and
Turkey on 5t June, 1947.

(D) In 1949, The United States of

*  America founded North Atlantic
Treaty Organisation  with
Eastern European Countries.

Correct answer is—

(1) Only ‘statement (I) is true.

(2) Only statement (IT) is true.

(3) Both statements (I) and (II)

are true

(4‘)' Both statements (I) and (II)

« =+ are false.

(5) Question not attempted
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19.

- 20.

Who ainong the following was the
President of the Socialist Republic
of Romania during the ‘Romanian
Revolution (1989) ?

(1) dJanosd ozefiKadar

(2) Erno G‘ref’g'3

(3) Nicolae Ceausescu

4 Alexandqn,Dubcek

(5) Question not attempted

~

Consider the following statements
regarding ‘Operation "Enduring

Treedom’ :

D Asa part«@f its ‘Global War on

¢ Terror’, @'ﬁAmerlca launched
‘OperatmﬁfEndumng Freedom’
from the year 2003.

In this operation, the main
target was Al-Qaeda and the
Taliban regiime of Afghanistan.

Choose the correct option =
(1) Only statement (I) is true.
(2) Only staté€ment (II) is true.

(3) Both statément (I) and (L)
are true. g-ﬂ

Both stdtement () and (II)
are false.

Question not attempted

(1)

4)

(6)

In 2002 United-States of America’s

President George W. Bush

identified WhlSh of the following

group of countfies as part of ‘Axis

of evil’ ? e

(1) Iraq, Iraf~and North Korea

(2) Iran, Lebanon and Israel

(8) Iraq, Pakistan and China

(4) North Korea, Lebanon and
Pakistan ¢

Question not attempted

(5)
03




T ey b T M e

-

'
e e T e e, o e = P T e e

21.

22.

23.

03

wgF U= TR F-Freifea § @ g
TR Y o o 7 R e
3c <t o <hi off 7,

(1) il oo oy o9 (i)

@) TR :

3) RERwE
@) e ST
(5) TgTid ¥

)

-GG U % W % PR § 4 |
Hﬁ?%mﬁaﬂﬂﬂzw@é‘m

afe, s o & g B aR-an
ERRﬂEF?&$IaT§% ?ﬁ”@ﬁ&ﬂ“ﬁﬁ@ﬁ:iﬁ?f%ﬂi?ﬁﬁT
R TEYT €9 | 391 ek et
87

(1) =34

@ R _

(38) 3II=T6 ,
4y =T 12

(5) 3

Tt g & wrfEm Pt wer
Wﬁ'ﬂ(%’;‘:

O e e & wee o e a9
TEg e Y Eifagadl
an @mmﬁﬁwmm
iR % g TE |

G I B = HIN

Q). S @) EaR |

@) FaE ) EaR

(3 @AY T g |
(4) (I)aﬁr(II)‘q‘lq‘ramar%|
(5) ' 3T I

=

??%%%%

T Tk e 8 Lt et et s e e TSRS

.organization

of the United States of America
first proclalmed the emergence of a
‘New World Order’ ?

(1) George H.-W. Bush (Senior)
(2) Bill Clinton

(3) Jimmy Carter

(4) Barack Obama

(5) Queéstion not attempted

L

. According to which.of the following

articles of the Charter of the
United Nations, a member” of the
United Nations which has
persistently violated the principles
contained in the present Charter
may be expelled -from the
by ., the :General
Assembly upon the recommendatlon
of the Security Council ?

(1) Article 4

(2) Article 5

(3) Article 6

(4) Article 12

(6) Question not attempted

Consider the:following statements
about the European pailiament —

(1) The members of the European
parliament are directly
elected every five years.

‘The legislative powers of the
European parliament ‘were
reduced by Lisbon treaty.

Choose the correct.answer :

(1) Only (I) is true.

(2) Only (II) is true.

(3) Both (I) and (II) are true.
(4) Both (D) and (IT) are false.
(6) Question not attempted

(1D

. Which of the following Presidents *5

2
.
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A 94, m%mﬁ%aﬁalﬁaﬁﬁaﬁ

ﬁ@ﬁﬁwﬁ#@aﬁ%aﬁqmaﬁrﬁm

TE 7 ;

1) wif, gtmafa%w@gyrq
TR | . m

(2 -ﬁmﬁmﬁﬁm .

T 85 % T I T % |

(3) & ghifTaa s 6 snftem 3 @m
¥R v on foem % @ =,
@mﬁmﬁtmw
# ifogEs @ | . %

(4) mwaﬁ%mﬁm
#emau AT '

(5) i 5

(e ! i)
(1) 2-47a=R, 1987
; (2) 16-17 7oK, 1986

=
:»511%"
. (SR
— i
~ T

(3) 2-8fe@mwr, 1988
(4) 12-147%, 1997 *

(5) FgaIRa ¥

L%

o]
26. Te-FRdE SRR % A Hp 1930

e wrer wef smfmLgen 7 5
(1) areft, g |

(2) T, TSt

(3) g, FRAH

(4) T, ITSESH

(5) eI S ’

n -
Ay

-t ﬂ(’.

91, Whigk of The following is not
. included inF"thé® piFposes as
mentioned in -Article 1 of the
Charter of ASEAN ?
(1) To maintain and enhance
peace, security and stability.
(2) To preserve South-east Asia
as a nuclear. weapon free
zone.

(8) To ensure that the peoples
and mémber states of ASEAN
o 'live in péace With thé world at
large in a just, democratic and
harmonious environment.
(4) Non-interference . .in  the
internal affairs of ASEAN
-member states:”
(5) Question not attempted

25. 9% % Nrex oledl % @ B 25. ~,Wh1ch of the followmg pairs is not

Pt s gl gl v |

correctly matched w1th reference to
SAARC summlts ?

(Date of Summ1t) * (Location)
(1) 2-4 Noveinbef, - Kathmandu
; 1987 T TS
. (2) 16-17 November, = Bengaluru
" 1986 ©7 77 (Bangalore)
(3) 2-3 December, — Colombo '
1988 o A

(4) 12-14 May, 1997 . —iMale
5) ‘Questi_on not attempted

26. Where was {he 19th summit of the
*  Heads of government of the Non-
Aligned Movement held 2.
(1) Kabali, Uganda

(2) Kampala, _I:J'gan)!d'a )
(3) Baku, Azerbaijdn

-

(4) Gandi, Azei'@aijﬁn -
(5) Question not attempted .
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27. F=ifead fea 2wl Hﬁ?ﬂﬁ ey # o | 27. Which of the following countries

- Ts6 31 Twlee a9y e (2024) &Y ..., Das hosted the 3t Voice of Global
; iz _q’pr 3, (2024) " Southt Sumimit’ (2024) in virtual
ST <6 2 ! " format ?
1) wRa ;1) .India
‘ ' &0 (3) Indonesia
‘ @ werRmEr - . & (4) SriLanka
< (4) Hfiew g:m (5) Question nof attempted
(5) I I "' '
28. WA % 3 A9 S 3w 1 wwdm % | 28. India launched “Operation NEER”
TR “afem IR il e O ? to support which-of its neighboring
1) siem countries ?
- (1) SriLanka
@) wE © (2) Maldives
(8) wFERw gy (3) Bangladesh |
@ = (4) Nepal
(6) rEha T Foud (6) Question not attempted
29. I H I!,'\_qpf-H 4 gifea + ot wma | 29, Match List-I with List-II and select
3R SN % a5 Twei @ TR the correct answer by using the

3R 9 & wEmey qﬁ'q} F e fgm | - codes glVen below the lists

regarding ~ defenceé” agreement

@mmmaﬁwaﬁ ¢ ety glgned be&:v;r(een India and United
@-l lﬁﬁ-II Mﬂ tates anL :_air List.q
_ -11
(m—aﬁltwmanﬁilal) (=) tlﬁ@ (Ind‘ia-UgA defence (S}Zar)
i, e T e (2) 20185 | plgreement) © 2018
Frata it P i. Basie e:;c ange an a
T
iien ol it ii. Logisticg exchange (b) 2019
il TR FRARRRE (0 2016 e oandum of
‘ we S wide o iii, Communieations , (¢) 2016
iv: SR R o @) 20203l -compalibility and
: @ : ﬁ iv. Industrial security  (d) 2020
! i i i iv ol agre'ement
W@ @ O @ Codeis i ‘ii)i iv
2 @ @ @ O | D@D © ©® @
e e 0 @ © } 2@ O &
¢ @b @ @ © a c
me @O ® @ @
(5) i ! (5) Question notilttexgzj?)ted
03 11 « H




80, Siter A % gew  PrfRea § @

gl A FAEE ?

(1) B dom BER EEEn %

FAI™ et off |
2) ﬂmﬁ?mﬁf‘cﬁwﬁa‘rg{m
srmfi'“

(3) mm%mma ‘

,maﬁﬁmﬂmﬁ#wﬁtﬁ
TG AT T |

@ '%WM%WWW.

AfIHToT T T T 7 |

(5) TR T

31. Rt 2024 ‘?‘aﬂq’aﬁ TE %
mﬂaw%ﬁﬁqu‘ﬁm%maﬁ
o P SHRH SR mE
mﬁﬁﬁ'—rmmmﬁsﬁ%?

, @D
(2) =R
(8) wEEH
@ sem o
() aﬁ?rﬂﬁmﬁﬁg

32, IS T, TE AR, S TR
frgia i Fr=fafes 3 9 & 3 0S WEa
BE?
Gy aoems (i) HROTEER
(ii)) TEACHD o ({v) STICH
& frerea 4 m
Q) = (D), (119‘"‘313? (iii)
@ e (D), (;1) it (i)
(3) Faa (i), (i) 3N @)
@ (), @); (i) 3K @)
(5) - TG T

TN T— — T

12

' 31. In

80. Which of the following statement

regarding the McNaughton Plan is

incorrect ? _

(1) McNaughton  Plan was
related to the solution of
Kashmir problem._

(2) McNaughton was” the
Bragzilian general who headed
the Security Council.

(8) Under the. McNaughton Plan,
the armies of both Pakistan
and India were to e
withdrawn from Kashmir.

(4 Itwasa proposal to demilitarize
Kashmir for a pleblscﬂ:e

(5) Question not attempted:

September 2024, under
‘Operation Sadbhav’, India sent
emergency flood relief assistance
worth US Dollar one million to
which of the following countries 9

(1) Bhutan

(2) Mpyanmar

(3) Maldives

(4) SriLanka

(5) Question not attemp‘te&

*

82. According to George H. Sabine,

every political theory consists

which of the following elements ?
) Factual (i) Causal
(i) Valuational (iv) Affectional
Choose the correct option :

(1) iny (@), (ii) and (iii)

(2) Only (@), (i) dnd Gv)

(3) Only (i), (iii) and (v)

@ @, G, (i) and (iv)

(6) Question not attempted
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33.
34,
E m '
35.
, 03

fr=ifern § @ form g 3 -t 9TR =1
“Rraiaida Wi wa1g ?

(1) 7B Ryaet

(2) TesIm

3) ferig@

(4) =T S

(5) -STIIRG TH

Tritr § @ Frw fgm 3 ad g
wurs T % &9l % w9 i et R

st Terifn Rigra § go @ Tt |

AR STCY A T ! SgaT fea 7
(1) vmETHR
@) =TI
(3) fasn=E
¢4 3SR
(5) ergENG ¥

T R 3 s -serma g &%

ey 1, i sue witmmr e

() e H AT TS B ¥ 8
e % w9, e fRifa 3 3 w5
3 ST @ TN STe Hieg Bl &,
mawmrasﬁmmaﬁt%ﬁ%
fr o=md w fuiy T IR
YfergTiies wedf o “srafifee’ St €
T GETal 6 39 eHIf®
WISl F Y SO T8 I A g,

(i)

3% %ﬁﬁﬁ%wﬁﬂ‘é’faﬁﬁaﬁ |

aﬁmﬁaﬁ%wﬁ

PR i F@ E )
IR ISR/ R /R ?
(1) e @)

@ ¥WEGE
(3). () 3R Gi) g
(4) w4 @® SMIH (i)
(6) I A

33.

. 34.

35.

13

Which of the following scholars has
called Karl Popper as ‘inverse
Platonist’ ?
(1) Mulford Sibley
(2) Ronald Young
(3) Leo Strauss
(4) Norman Jacobson
(6) Question not.attempted

m
Who among the following scholars,
throu}l‘ his book “Truth ‘dnd
Methiod” established Hermeneutlcs
Analysis as the philosophy of social
science and promoted normative
practice by considering it as a
system in political theory ?

(1) Thomas Kuhn

2) Georg Gadamer

3 Leo Strauss

4) FlDav1d Easton

6) Questlon not attempted
Wlthﬁm reference to new
institutionalism approach  to
political theory, consider the

following statements :

( Rather than viewing institutions

' as"mdependent entities, in which
case they exist almost outside of
tirhe and space, new
m§t‘1tut1onahsts emphasize that
istitutions are ‘embedded’ in a
particular normative and
historical context.

(ii) Political institutions are no
longer equated with political
organizations, they are thought
of not as ‘things’ but as sets of
‘rules’, - which guide or
constrain the behaviour of
individual actors.

Which™ of the statements given

i

above 18/are correct ?

(1) Only @)

(2) Only (i)

(3) Both (i) and (ii)

(4) Neither (i) nor (ii)

(6) Question not attempted




36

37.

38.

mmmmmammﬁmm

HIASF TE 8 7

(1) et e

@ SmuaaE’

(3) I HY

(4) FrewEdRe

(5) oIfRf@¥T -

Frifea o & fepm fogm 3 3t g g

WE 3175 € 97 &' # #gl & % IRufes

TE-Usy Ao srefeaer § IrThls

IR % % IEE SHRAT T E 7

(1) EaHeT

2 Hh g

(3) Ve FEm

(4) sfoe e

(5) ITARa WA \

s W & RgR A8 ST S T %

foreo % dey # fefiieg § @ 8.

/AT TG /8 7

I S T@s ‘g aehged 3%
uiferfewa’ £ |

II. U9 S JGUROT Tk FRNeS €9
Y IO P T B, W IFHW
TaTH €9 ¥ Y BEHT 3120 9
Wl |

TIT, TS ©I8q: 3= i 6 enits s
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(1) Faal3kl

(2 ae I 3R '

® L IIsRII

(4) Faal

(6) IEERATA
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|
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36. Who among the following thinkers is

&

not the apostle of existentialism ?
(1) Karl Jaspers

(2) Jean Paul Sartre

(8) Albert Camus

(4) Daniel Cohn-Bendit

(5) Question not attempted

Who among the following scholars,

ini his book “The End of the Nation
State’ stated that traditional nation
states have become unnatural,

even impossible units in_a global

economy ?

(1) Stephen Kohen

(2) Kenichi Ohmae

(3) Robert Keohane

(4) David Mitrany

(6) Question not attempted

Which of the following statement/s

is/are correct with regard to

Linguistic School scholar T.D.

Weldon’s analysis of State ?

I.  His book is ‘“The Vocabulary of
Politics’.

II. Concept of state is a

hopelessly muddled term,
frequently invested with
dangerously misleading

mystical overtones.

III. State is clearly subject of high
grade philosophical 1nterest

Choose the correct option :
(1) OnlyIlandII
(2) Only IT and III

(8 I,IIandIII :
(4) Onlyl N
(5) Question not attempted
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(1) ameTses

@ sfede
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389. Who amiong’ the following argued

that the state was afflicted with
‘Soul Stuff’ an abstract and mystical
belief that state somehow represents
tile ‘whole’ of a community ?

(1) Arthur Bentley
(2) David Easton

(8> Almond Powell
@
(5)

Poulantzas

Question not attempted

Which of the following thinkers
portrayed the state as ‘unifying
gocial formation’ ? '

D
@r
3)
(4)
5)

Joseph Stalin
C. Sylvester
J.A. Tickner

Nicos Poulantzas

<

Question not attempted

g
rs

Who- gave the thought ‘that the

state has relative autonomy and it

is not.a neutral arbitér? ¢

3 k2

(1) Karl Marx o !

(2) Ronald Dworkin , |
3)
(4)
()

Hegal e bn

s ¥t !"a- [ M
Jeremy Bentham ™

{ ¢:.-_-- v

Question not attempted_.
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PrefRea e a/dE
© () STITE TEYE
(b) * SRS HTC
rn (o) STOHTOT A
(d) SFI=RIEHE HIL G
Tt Teramea &1 = IR
(1) %5 (a), (b) W () WL E |
(2) %9 (a), (o) T (d) THE 4
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@ (a),®), QWAL
(5) TG SR
43. Tmafafee 3 4 fru fems Y w01 &%
SRt @ SRS B YW B Th
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mm:ﬁ'ﬁgﬁmsﬁ%w%@ﬁ@@
5 WA 2

(1) hie T
(2) e iehlee
(@) T . feissm
(4) e
(5) AT WA
44, HNE TR Yed F dew § wem @
o1 TIEEAT I MTEHT B 94T ST 3 T
it 7 ‘Br-Fianl Regia e a2 7
(1) tﬂam
(2) w@qum‘aﬂ
@) W .
@ @& T

Forrd 1y a

() IgEiassF . .+, <

fywe
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42. Which of the following are the
major usages/notions of
sovereignty ‘in the age of
globalization as identified by
Stephen Krasner ?

(a) Interdependence Sovereignty

(b) Domestic Sovereignty

(© Westphalian Sovereignty

(d) International Legal

Sovereignty :
E‘*Choose the correct option :

(1) Only (a), (b) and (c) are correct.
4@ Only (a), (¢) and (d) are correct.
I Only ®), () and (d) are correct,

(4) (a), (b), (c) and (d) are correct.

(5) Question not attempted

1

43. #Who among the following thinkers
Riated that.power is a ‘generalized
gimedium of mobilizing commitments
é":gr obligation for effective collective

action, a generalized facility of

resource that rests on accepted forms
of legitimacy’ ?
(1) Talcott Parsons
(2) Michel Foucault
(8) Charles E. Lindblom
%E;tl) Steven Lukes
&

| @
Pooge
P

44. Who has given a ‘three dimensional’

theory of power to explore the sense
of freedom or autonomy in relation
to existing power patterns ?

ggl) Peéter Bachrach
i!fi;i(:Z) Morton S. Baratz
’3) Steven Lukes

Question not attempted

g (4) P.Benn R

(6) Question not attempted
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45.

47.

48.

03 :

‘T W W IE § T 9w =R @
TR TeaH, R oK AT @i

T SEH T §; ‘Oxl &1 9a9 S

31ehert 3R ufied Bl g 7, < 6 Samia
3Ryt arEmEl 6 foee %1 ReR s\

At 8 | Frefifd Rensl § @ ag s |

Tros1 g 7

1) USTHR
() Redni=
(5) AFANA I

(2) &I
(4) Pk wE

. Prerifien 3 3 9 @ AR F Ta

P I TEkE TR ?

(1) weufa

(2) wGirEmERE

@ SifeaHRdTaTEde
(@) NPT FRA SN |

(6) ITIARa T

“oF § ST grEeiE Yo W B9 €,
Sais A9 Gfy F9 T S FH |
Sy g |7 3R Hene $ el d 1
o forifera 3 O freep € 7

1) T e

(2) < SIEH ,

(3) STR.TH. R

(4) TES, AR

(5) SIEARE T

Frferiaa o @ forT wfia Sia 4 U9
T TIE FAE EIAIE ?

I. sfcwm 1. smuw

ITI. ‘Hetets IV. &
V. dis

(1) Fea [ ILIVRV "’
(2) HEe I, IR IV:

(8) ¥ I, IVSIRV

'@ LILILIV3RV,

(5) IgaRe I

g5 1 1 P L ta by '

4 5"_

&3 (1)
& 3)
2 (4)
P (5)
46.

£ (3)
B 0
== (5)

47.

‘The -virtue. of authority is that it,
provides individuals with a sense
of wsocial identity, stability and
reassurance; the ‘collapse of
authority’ leaves them lonely and
disorientated, prey to the
entreaties of demagogues and
would-be dictators’. Who among
the following thinkers has stated
this statement, ? i
Roger Scruton

¢3 (2) Hannah Arendt
Wilhelm Reich
Theodor Adorno -
Question not attempted

ry,

Which -of the following is not
related ‘to the liberal view of

. legltlmatlon ?

m (1)

Consent

(2) Constitutionalism

Legitimacy arises from below:
Legitimacy,arises from above
Question not attempted

“Congress in session is congress on
pubhc exhibition, whilst congress
in its committee room is congress
at work.” Who among the following

gy has stated the statement with

m reference

E“% 2)

48.
gy established democracies

to the Congress of
Amerlca ?

(1) Woodrow Wilson.

James Bryce

(38) R.M. Machivers

(4) H.J. Laski

(5) Question not attempted

In which of

the following )

i§ the

32 head of the state the Monarch:?

&I,  Belgium II. Japan
ﬁ III. The Netherlands I\F Spain
P V. Sweden-

(1) OnlyLIi, IV and V
(2) Only II III and TV
(3) Onlyl, III, IV and V.
4 LILIILIVandV
(5) Question not'attempted .
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49, Tfafes 4 4 oW O w5 femiw . Which one of theé'following is not
T N - sk = Rsiar e -an attributt.a of rule adjudication in
the developing states ?
(1) A et Rigia w1 § @ 3l (1) Tt is independent. and
‘1‘2155 g ' separate only in theory.
' 9 arel ¥ uoifys &7 ‘(2) It is not a part of the political
@) %qu process in the true sense
L . (8) It is prohibited from playing
3) 3‘@ =ﬁﬁf ﬁrrfur ki Tﬁi@@ [ERIEKS any role in policy making.
wicreifere feran @ | (4) There is stability and
(4) frm sfifelr sfeaet § R | certainty in rule adjudication
SR PR e | processes.
' D (3) Question not attempted
(5) ITTANG W 7 S
30. Which of the following schol
. . . rd0. g scholars
50: Tyeifea 3 & m. fereT 7 @r® 3@ b f«  stated that failure of democracy
o dife arfe § sia 3g wer s S during the cold war period in Latin
TArehad i TowadT + $9 914 61 g1 hi 7% America confirm that ‘separation of
‘TR T QR Siedd % TR powers can affect - democracy’s
' BR ) g ) TR TR Y 2 potential to flourish’ ?
kY (1) Robert Cox
(1) T Hiea 3 (9 8. Stok
. Stokes
2) W e | £ (8) Joseph Stiglitz
(@) < e P~ (@ JohnLinz
@) R (6) Question not attempted
(5) IraRa I 51. Consider the following statements :
. . . oy @ A classical or pure
51. Wﬁmtﬂ formm e : ) mi interpretation of doctrine of
G) wiFE * JRIh 0] * fagm $i Fﬁ separation of powers is given
. m@ﬁqmg@@m@éyﬁ R o by M.J.C. Ville.
’ TUEATER | "~ (i) The structures of the extra

constitutional checks and
balances system also include
the political process and
public opinion.

Which of the statements given

(1) ﬁta%mﬁm frbmr it dgem
St ) Tmen § TSt
Tighar 3K s o e € 1

IRRCTCERA T DT T/ E/E 7

4
—B-_..——_.——.

(1) +I (@) o j I% above is/are correct ?
@ Fa@ - KO oy@
o 2D s 3 U R f”m. nly (ii 1 LW t
3) () 3 (G) ?ﬁf ) o } E3; Botlsi El))and G
(@) Fd@ @RI (11) ' ’ (4) Neither (1) nor (11) '
6) *FEEaTa Y T (5) Question not attempted ’
n B 18 *°F 03 <
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54.

|

52. Trfaied o 4. 5w fomms 3 ool wea
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(@) Ieheie () Pedis
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52.

53.

54.

Who among the following thinkers
coined the term ‘false démocracy’ to
explain that development does not
only mean economic and social
progress but also implies the
political meaning’ of freedom and
democracy ? -

(1) Gunnar Myrdal
(2) Fareed Rafiq Zakaria
(3) Edgar Owens :

“4)
(&)

J ean Blondel
Question not attempted

“Democracy is to adults what
chocolate is to children; .endlessly
tempting; harmless 1n small dose;

sickening in  excess”  This
statement of D. Marquand
characterizes -which of the

following views of Democracy ?

(1)

Marxist view

(2) Pluralist view ‘
(3) Corporatist view

(4) 'N?w Right view

() Question not attempted

“w

In which of the following countries
is the Majoritarian Parliamentary
system found ?

(i) New Zealand (ii) Finland

(iii) Italy (ivy Germany

Choose the correct option :

(1) Only (i) and ii)
(2) Only (i) and (iv)
(3) Only (i), (iii) and-(iv)

0, @), GiD) and.G¥) -~

Question not-attempted

€y
(5)

4

3
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55. Consider the following: statements
. with reference to the types of
federalism :
() The communist states, the
erstwhile USSR, Czechdslovakia
and Yugoslavia were termed

g?ﬁ. ‘pseudo federations’ as Jbehind
¢ the fagade of formal division was
42 a highly centralized and
Et sophisticated control of power,
both ideologically and coercively.

() The term ‘marble cake

federalism’ was used to describe
the federal evolution in the US
till the New Deal legislations.

psWhich of the statements given
GFabove is/are correct ?

$&1) Only ()
&I:;_(z) Only (i)
(3) Both (i) and (ii)
(4) Neither (i) nor (ii)
(5) Question not attempted

gawWhich of the following is not
grincluded in the responsible factors
gfg:of the emergence of a powerful

pwcentral government as described by
MK.C. Wheare ?

(1) Techno politics
(2) Power politics *
(3) Cultural politics
(4) Depression. politics
%f"%(S) Question not attempted

57.Edmund Burke was associated
ﬁﬁwmh which of the following
f=principle models of representat10n‘7

(1) Trusteeship
(2) Delegation
(8) The Mandate
(4) Resemblance
(5) Question not attempted
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59.
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58.

In which of following country’s
constitution it is mentioned that
‘statutes guarantee the equitable
participation of political parties
and groups in the democratic life of
the nation’ ?

(1y France

(2) United States of America

(3) Switzerland

(4) dJapan

(5) Question not attempted

. Which of the following are the main

functions of political parties ?
() Flite formation and recruitment

(i) Interest articulation and
aggregation

(iil) Socialisation and mobilisation

(iv) Goal formulation

Choose the correct option :
(1) Only @) and (i)

(2) Only (@), (ii) and (iii)

(8) Only (ii),~(iii) and Gv)
(4) @), (@), (iii) and @v)

(5) Question not attempted

Consider the following statements
about Confederation of Indian
Industry (CII) :

(@ Tt was established in 1895 as
name ‘EITA’.

(I1) Sanjiv Puri is the current
(October 2024) vice-president
of CIL.

Choose the correct option :

(1) Only (I) is correct.

(2) Only (I) is correct.

(3) Both (I) and (II) aré correct.

(4) Both (I) and (II) are incorrect.

(5) Question not attempted
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63.

Which of the following factor is not
included in thefresponsible factor
of the origin of political parties as
described by La Palombara and
Myron Weiner3

(1) Crisis ofLLegltlmacy ]

(2) Crisis ttpf Dispersion  of
1nst1tut1g&ahzed power

(8) Crisis of participation

(4) Crisis of territorial

integration

(5) Question not attempted

Which of the following works of

Plato are totally devoid of Socrates’

influence ? &2

(1) Apology ¢35 (i) Phaedo

(iii) The Staté§man (iv) The Laws

Choose the correct option :

(1) Only (1) and (ii)

2)

(3) Only (i) and (iv) .

4 @), (i), (iii) and @v)

(5) Question not attempted

3

Consider the #0ollowing statements

about Aristotlg’:—é views on equality:

(A) According= to Aristotle the
lesser form factions in order
to be equal, the equal in order
to be greater. . )

(B) According to  Aristotle
inequality is everywhere at
the bottéii of the faction, for
faction ézgnses from men
striving for what is equal.

Choose the correct option i/

(1) Only (A) is.corréct.

(2) Only (B) is correct.

(3) Both (A) and’(B) are correct.

(4) Both (A) and/(B) are incorrect.

(6) Question not a}:ﬁe’pptgd
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64. Which of the following theories are

associated to Machiavelli’s political
thoughts ?

@) Moral Indifference "
(ii) Universal Egmsm

"(iii) The Omnipotent Legislator

(iv) Philosophical ambiguities
Choose the correct-option :

(1) Only @), (ii) and (iii)

(2) Only (i), (it) and.Gv) <
(3) Only (), (iii) and (iv)

(4) (@), (ii), (ii).and @Gv)

(5) Question not attempted

65. According to Rousseau the life in

-

collective state precipitates the
development of a new motivating
principle i.e. ‘amour-propre’. What
was this new principle ?

(1) Pity

(2) Drive toward ¢omparison with
. others 3

(3) Drive towards Self-

preservation
(4) Drive to:be fioble-savage
(5) Question:not attempted

-

66. Who among the followmg political

A

thinkers has supported the
education for women and proposed
a new : curriculum called
‘Christomethia’ ? RN

(1) dJohn Stuart Mill.

(2) Jean-Jaques Rousseau
(3) dJeremy Bentham

(4) JamesMill . }
(5) Question not attsmpted
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67. Which one of the following pairs is

68.

not correctly matched regarding

the heads of ' government’

departments and their duties as

described in Kautilya’s

Arthashastra ?

(1) Aakaradhyaksha —  Chief
controller of mining and
metallurgy

(2) Kostagaradhyaksha < Chief
superintendent of warehouses

(3) Vivitadhyaksha —  Chief
superintendent of  forest
produce

(4) Sutradhyaksha — Chief textile
commissioner

(5) Question-not attempted

Consider the .following' statements
about the Gandhian concept of
Sarvodaya :

@ Its roots in the Vedantic
concept of the spiritual unity
of existence -and the Gita-
Buddhistic ‘concept of
sarvabhutahita or the good of
all living beings.

Its comprehensive idealism
supports to the Lockean
theory of majoritarianism and
the Benthamite formula of
the greatest good of the
greatest number,

Which of the statements given
above is/are correct ?

(1)  Only (i)

(2) Only G1)

(3) Both (i) and (i)

(4) Neither (i) nor (i)

(6) Question not attempted

Which of the following idea of ML.K.

Gandhi was rejected by Ram

Manohar Lohia ?

(1) Reconciliation of religion to
politics

(2) Ends and Means-principle

(3) Small machine technology

(4) Political decentralization

(5) Question not attempted

(i)
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70. Which of the following is nét

71.

72.

73.

favoured by Jawahar Lal Nehru ?

(1) Parliamentary democracy

(2) Laissez-faire state

(3) The system-of graded taxation

(4) Gradual change of social
conditions

(6) Question not attempted

Which one of the following

statement is not correct regarding

the Ambedkar’s economic thoughts ?

(1) All important industries of
the country must be in public
sectors.

(2) Insurance is compulsory of all
citizens.

(3) Nationalization of land is
necessary.

(4) Private economy is necessary
to accelerate industrialization
in India.

(5) Question not attempted

Who. among the following scholars

“said that “it is not politics that get

caste ridden, it is caste that get
politicized” ?;

(1) Rajni Kothari

(2) Lloyd and Sussane Rudolph
(8) M.N. Srinivasan

(49) B.R. Ambedkar

(6) ‘Question not attempted

Which term was firstly used by
M.N. Srinivasan in his work ie.,
“Religion and Society among the
Coorgs of Sotith India”, to explain
the process of~upward mobility
within the Hindu caste system ?

(1) Westerrizétion

(2) Modernization .

(3) Urbanization

(4) Sanskritization

(5) Question not attempted
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74. On 'w;llich‘ of the following dates

75.

76.

was Himachal Pradesh given the
status of a full'state? -~

(1) 14 November, 1970

(2) 25 January, 1971

(8) 02 October, 1973

(4) 27 August, 1972

(6) Question not attempted

For what purpose ‘Wada Na Todo
Abhiyan’ formed by civil society

" organzations in 2004 ?

(1) To increase governmental
accountability to end poverty
and to ensure that the state
adheres to the Millennium
Development Goals.

To stop the building of a dam
in silent valley.

To address the widespread
problem of sexual
harassment.

To oppose the patriarchal
domination in the lives of
Indian women.

(5) Question not attempted

@)
(3)

4)

Consider the following statements

regarding the  new social
movement’s approaches :
(I) New :. social movement

theorists. assuming that the
process of collective identity
formation is formed due to
structural facétors.

New social movement
stressing upon a centralized
network that sustain a
movement rather than
. recognizes a variety of
submerged latent networks.
Whlch of the statements given

an

above is/are correct ?

(1) (D) only

@ (@only * -

-

(3) Both (I) and an.
(4) Neither (I) nor (IT)
(6) Question not attempted
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71.

78.

79.

Who has adrgued that due to
Globalization Nation-state has
become a ‘Nostalgic Fiction’ ?

(1) Theda Skocpol

(2) Kenneth Ohmae

(8) dJohn Gray

(49 M.Mann

(5) Question not attempted

Which of the following-thinkers has
argued that the ‘rise of Mcworld’ is
symbiotically linked with the
emergence of Jehadi terrorism ?

ey
€9
3
4
(5)

Benjamin Barber
Ernest Gellner

Estee Martin -
Benedict Anderson
Question not attempted

Which of the following statement is
not correct regarding World Trade
Organization ?

(1) World Trade
agreement
service
properties.
The topmost decision making
of the World | Trade
Organization is the
ministerial conference which

" usually meets annually.

World Trade Organization
Secretariat is based in Geneva.
World Trade Organization
Secretariat is headed by a
director general. The
Secretariat has no decision-
making power.

Question not attempted

‘a

Organization
cover  goods,

and intellectual

()

@
@

(5)
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80.

. II. Bilateral borrowing 1is

81.

Which of the following statements
are correct ?
I. International Monetary Fund

funds come from three
sources member  quotas,
multilateral and bilateral

borrowing agreements.

I the
primary source of International
Monetary Fund funding,

The board of Governors is the
highest decision making body
of the International Monetary
Fund. ,

International Monetary Fund
is - gradually -mainstreaming
climate related risks and
opportunity into iis policy
advice. v ’
Choose the correct option :

(1) OnlyI,IIandIV

(2) Only II and IIT

(8 OnlyL Il andIV

(4) OnlyIandIII

(6) Question not attempted.

I11.

Iv.

Consider the following statements
about Ajay Banga :

() He is the 15% President of
World Bank Group.

He began hLis four-year term
as World Bank group
president on June 2, 2023.

He was awarded with the
‘Padmashri’ in 2016 by
President of India.

(it)

(1)

Which of the statements given
above is/are.correct ?

(1) Only ()
(2) Only (iii)
(3) Only (ii) and (iii)
4) (@), (i1) and (iii)
(6) Question not atﬁempt'éd
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82.

83.

84.

Who among the following was the
Force Commander and Head of the
Mission of TUnited Nations
Disengagement Observer Force
(UNDOF) at Golan Heights in 2006 ?

(1) Major General I.S. Singha

(2) .Lt. General J.S. Lidder

(3) Lt. General Chander Prakash
(4) Major General L.M. Tiwari ,
(5) Question not attempted

Where was the 5t BIMSTEC
summit held in virtual mode ?

(1) Dhaka

(2) New Delhi

(8) Colombo

(4) Bangkok

(5) Question not attempted

Which among the following is not
correct regarding the role of India
in United Nations ?

(1) India was elected the first
chair of the Decolonization
Committee of the United
Nations. .
Vijaya Laxmi Pandit was the
first. woman to be elected
President of the United
Nations General Assembly.
Indians have served 71
United Nations Peacekeeping
missions established around
the world since 1948 to 2023.
In 2007, India became the
first country to deploy an all-
women contingent to a United

)

3)

(4)

Nations Peacekeeping
Mission.
(5) Question not attemptéd
x|
¥
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85. TPy idRM #it sfwiRkes AT | 85. When  was.  the  Non-Aligned
WE% ? Movement formally established ?

@ 1951 @ 1956 () 1981 (2 1955
(3) 1961 4) 1962
(3) 1961 (4) 1962 () Questi
5) - - uestion not attempted
-

86. WKd % THe F “Q T W 86. The ;Conéluelll'lce of two Seas” speech
Rrfefiae o e in the Parliament of India was
e T ia i [gafe gr delivered by which of the following

TR Prime Minister / President ?
1) IHEE (2 WTw (1) John Howard
() Rt (4) s W (2) Helen Clark
‘ ) N (4) George W. Bush

87. Eram‘ 8 B W H IR (6) Question not attempted
mﬁmﬁﬁmsﬁtmaﬁmaﬁ@ 87 To ¥
m%g‘-ﬁrﬁmﬁ £ . To now is to Tbear the

e Hﬁgg@ ! e responsibility for acting and to act
3@'“@ o et ST is to engage in reshaping society.
frgmadafa g ¢ The above statement is related to
(1) =EERERE which of the following political
() wEETE theories ?
) FE (1) Behaviouralism
8 TR w | @ Positiviem
AR e (3) Post-Behaviouralism
(5) IHITING ST :;ﬁg (4) Empiricism
88. Wi USHIfs e o Iov Al Wi | (5) Question not attempted
3 o
<t ﬁﬁzrfha HH F T B gg"‘ SN | 88. The mechanisms for regulating the
ﬁﬁ%ﬁaﬂﬁﬁmmmﬁm demands arising in every political
e ? system are classified by the Easton
6 TR into which of the following broad
(if) wreplw SR ik A= gpes(“:‘r?ate-keeping
m@ﬁmmf g 1 (i) Cultural mechanisms and
(iii) E’@WW (v socio-cultural norms
(v) Toer ufmmd é;"?; ! (iii) Communication channels
e Rwer =5 fou (iv) Expansion processes
- ) if) (i) ke G [ Choose the correct option :
. = 0, (1) s | () Only(), G and (i)
(2) FHaw (?, (}? (17) l (2) Only (), (iii) and (iv)
(B e (1), (i) IR (@) l (8) Only (i), (iii) and (iv)
@ @), @), Gi) 3 @Ev) | @ ), (i), (iii) and @v)
(G) -IEeRETE (5) ‘Questionnot attempted
] = % 30 03
¥ ¢

.
1
!

J

\
|

e n 1 e A b A b o o




+103

89.-

)
.

g IR T ¥ IFER, SEATHS-

FEfE gREM YR TSI,

=R & g e § P § §3

B Y wav e 7 |

(@) R g P~

(i) THH THE
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W< Ter IR iR ﬁ
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(ii) TR H&PHla HI FTEROT 19601‘1‘
3miE ST T R AR 7 Wi
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SRR EA T IS/ AT R/E 7

1) F§ ()

@) e (i)

3) @)'ﬁ(gi)?ﬂﬁ'*‘ ‘.
@ AMEOIARG
(B), GTRAIRA .

89. According to Almond and Powell,

90.

i 31

Y

which of the following are included
in the common characteristics of
every political system from a
structural-functional perspgctive ?

®
(1)) Same functions

(i) A political structure
performing many functions

(iv) Isolated systems
Choose the correct option :
(1) Only (), (1) and (i)

€2) Only (i), (iii)) and (iv) -
(8) Only (i), (iii) and (iv)
@. (@), (D),.(1ii) and (iv)

(6) Question not attempted

Political structures
i

m

Consider the following statements

regarding ‘Political Culture’ :

(1) Almond coined the term
‘political culture’ in 1950 and
acknowledged that his
conception of political culture
was inspired from Weber and
Parsons traditions of social
theory.

The notion of civic :culture
formulated in 1960 by
Almond - and Verba, which
emerged after a comparative
study of five nations — US,
UK, Italy, Brazil and Mexico.

Which of the statements, given
above is/are correct ? .

(1) Only (@)

(2) Only (i)

(8) :Both (i) and (i) ~

(4) Neither (i) nor (ii)

(5) Question not attempted

(i)

il = |
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92.

93.

Which of the following scholars are
considered as the founders of ‘New
Institutionalism’ ?

(1) Jean Blondel and David Apter
(2) M. Eisner and E. Erikson

(8) J.G.-March and J. Olsen

(4) A. Frank and D.J. Elazar

(6) Question not-attempted

Consider the following statements
regarding “Fiscal Federalism” :

(i) Fiscal federalism involves
examining ; and stabilizing
only the vertical imbalances

in centre state financial
relations.
(i) Vertical imbalances are

generally stabilized - through
various types of trarsfers and
in Indian context these issues
are examined by the NITI
Aayog.

Which of the statements given
above is/are correct ?

(1) Only ()

(2) Only (i)

(3) Both (i) and (ii)

(4) Neither (i) nor (ii)

(5) Question not attempted

Which two states have border
disputes over the Belgaum ?

(1) Karnataka and Tamil Nadu
(2) Maharashtra and Karnataka

(3) Tamil Nadu and Andhra
Pradesh

Maharasht‘ra.
Pradesh

Question not at{:emptéd

4) and Andhra
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94. Who among the following scholars
advanced the mnotion of an
‘Anarchical Society’, in place of the
conventional theory of

mé international anarchy ?
e (1) Woodrow Wilson
gﬁ (2) Michael W. Doyle
b (3) Kenneth Neal Waltz
(4) Hedley Bull
(6) Question not attempted

95. Which one of the following pairs is
o not correctly matched regarding
¢y Kenneth Waltz’s neorealist theory ?

g International International
nStructure (State Outcomes
¥~ Units and (Effects of State
Relations) Competition)
(1) International — Collective
Anarchy security
(2) States as ‘like — International
?i;; units’ recurrence and
o repetition
g{@) Unequal state — International
P  capability conflict, war
(4) Great power <= International
relations change

(6) Question not attempted-

96. Who among the following did not
g;jg assume that the  political
ﬁi‘& development can be evaluated in
. terms of the level or degree of
- absolute power which the system is

able to mobilise ?

(1) Coleman iR

(2) Lucian Pye N

(8) Talcott Parsons :

(4) Gabriel A. Almgpd, -
(5) Question not attempted

i
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97. Which of the following scholars
called Ideology of Michael
Oakeshott as ‘Quietism’ ?

(1) Eric Voegelin

(2) Hannah Arendt

(3) \I’;eo StrauSs,

4) I:Ienery Calri‘lle

(5) Question not ‘attempted

98. Which of the following scholars, in
his article “Political Science in the
United States’ has given credit to
A.L. Lowell for bringing technical
advancement in Psychology and
the use of psychology in the new

political science ?

(1) Robert Dahl

(2) Charles Mariam

(3) Herold Lasswell

(4). Robert Nisbat

(5) Question not attempted

99. Which of the following statements
is correct regarding empirical

theories ?

o)

It is chiefly concerned with
values.

)

It is based on speculation and.
logic.

6)) In this, critical and prescriptive
method is used.

(4)

The criteriont of .its validity is
“True or false’.
(5) Question niot 'siﬁzeﬁpted
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101.

100. Consider the ‘following. statements
with reference to the utility of

political theory —
(s Political theory is essential as
% a discipline of political

££» science.
By

@iy~ Political theory as a
conceptual framework
provides inspiration and

direction to data collection
and research.

(I} Political theory helps in

% providing scientific
b« explanations.
Jrorn
Select the correct answer among
the following :

(1) Only (iii) is true.

(2)@ Only (i) and (ii) are true.
(32@{ Only (i) and (iii) are true.
42 (i), (i) and (iti) all are true.
(5gm Question not attenipted

Which of the following scholars is
not associated with the “contextual
aﬁgzlz'oach” in political philosophy ?

jow)
(1;2% John G.A. Pocock

(2§%‘ John Dunn

4

(IR Y

¢ 7 (8) " Quentin Skinnér's

(49 H.R.G. Greatves

v -

(5) Question not attempted.
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102. Consider the following statements

103.

@

regarding liberty — .

(@ Gerald ‘C. MacCallum argued
that the state can only protect
the negative liberty of an
individual. Protecting positive

liberty does not come within

the scope of the state’s
consideration.

Isaiah Berlin sees liberty as a
triadic relationship. Agent,
constraint and goal, unless
these three elements are
present the idea of liberty
cannot be meaningful.

Choose the correct option :

Only statement-(I) is true.
Only statement (II) is true.
Both statement (I) and (II)
are true.

Both statement (I) and (II)
are false.

Question not attempted

()

(2)
3)

(4)
(5)

Consider the following -statements

regarding positive liberty —
(i) The concept -of positive liberty
connects Iibertj} with society,
rights, equality and justice.
(i) The concept of positive liberty
arose from early liberalism.

C.B. Macpherson and dJohn
Rawls are proponents of
positive liberty.

(iii)

Select the correct answer :
(1)
2
3
(4
(5)

Only (iii) is correct.

Only (i) and (ii) are correct.
Only (ii) and (iii) are correct.
Only (i) and (Gii)y are correct.

Question not attempted
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104. Who among the following scholars

105.

106.

has stated that all distributions
are just and unjust relative to the
social meanings of goods at stake ?

(1) Ronald Dworkin
(2) Michael Walzer
Lol
(3) €David Miller
[0
4)
(5)

Which of the following statements

is not correct ?

(1) The entitlement theory of
giustice was propounded by
¢libertarian writers, especially
%obert Nozick.

(2) Fluibertarianism as a political
B!”%’heory is support for a free
market economy..

(8) Libertarianism considers
redistributive taxation to he
‘;;Eundamentally correct.

(4) i”’Noz1ck’s entitlement theory is
Ehfluenced by the ideas of
ﬁfjohn Locke and Friedrich
FHayek.

(5) Question not attempted

LR B :
. Tocqueville

E}%Q“uestion not attempted

Who among the following- has
argued that ‘each citizen of a state
Wﬂl‘ﬁ'ﬁave to learn to become a
cosmgpohtan citizen’ ?

(@)) E&'L‘.H. Marshall

(2) Groham Eric g
(3 David Held

(4) W.R. Brubaker

(5) Question not attempteé.




107. 1935 & WRd WA e A fFg aw | 107. In which  Section of  the

¥ g WA R T R TR e Government of India Act, 19§5, it |
" - was provided that the Govérhor

T W oA SR I HRBR TToa| General would govern the reserved

! TR & 39 T & TR BT 7 subjects according to his discretion

with the help of his executive
(1) ¥wé councilors ?

2 Wil (1) Section 6

(2) Section 11

(8) ®=mrioz €3 (8) Section 102
(4) 106 ® (4) Section 106
(5) A ﬂ‘%« (6) Question not attempted

108, wita e sifefRm, 1935 % aﬁlﬁﬁ I | 108. Which of the followihg pairs is not
uRwe (FERE iIF we) § dhl correctly matched with reference to
‘ llocation of seats in the Council of

mﬁ;aaﬁﬁﬁmmﬁ%@:mgm 2

State under the Government of

wE g el 8 7 & India Act, 1935 ?
(1) WRd 38— 2 ﬁ (1) Indian Christians — 2
(2) ITE-URGT — 3 fres (2) Anglo-Indians -3
3) qfrﬁm _7 (8) Europeans—7
4 ﬁ_ 1 (4) Coorg—1
®) N (5) . Question not attempted
109. TEANYTE YA WK aﬁu}g a7 Sy | 109. Villfi::h?hii I;a;;lel was member of
freffea Tfifrt % Teea which of the following committees
EREL , %Bm a7 of the Constituent Assembly of
(A) G |t India ?
fen
(B) Tswaify v [ A) Steering Committee
. S (B) States Committee
© H‘Ewlﬁ (C) Union Powers Committee
(D) o gl gt (D) Union Constitution Committee
T fapeq w1aee iR : M | Choose the correct option :
1) e (A) 3k (B f;@ (1) Only (A) and (B) are correct.
0 (&) 3iR (B) ¥t & 40 | (2 Only (A), B) and (C) are |
@ 3 (4), (B) 3k (C) HgE | correct.
(8) e (A), (B) 3R (D)nér%‘ x 3 Only (A), (B) and (D) are
4 A , B , C Gﬂ'{ ). Y |{ , correct. - LA
@ (), ®), C)ARD)wE W @), ®, © and (D) ' ro
6) 343?'?@ ™o o correct. Crrnven .
(5) Question not attempted
o ., 38, 03 .
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' 110. Which of the following provisions

of the Indian Constitution can be

amended by simple majority of the

Parliament ?

(I) Abolition of
Legislative Councils in.States

(II) Fifth Schedule
Administration of Scheduled
Areas and Scheduled. Tribes

or creation

%{: (II) Supreme Court and High

I
e
B,

'ﬁ?" )
ﬂﬂa
E‘m

EIeN

-

Courts

(IV) Representation of States in
Parliament

Choose the correct answer :
Only (III) and 0V)
Ouly (@), (1) and (V)
Only (1), (III) and IV)
Onl{.y (I) and (II)

Question not attempted

(2)
3)
(4)
(5)

£

£
11@:’In which article of the Indian

<]
grom

the of
collective responsibility of the
Council of Ministers is codified ?

“

Constitution principle’

(1) Article 75(2)
en(2)  Article 75(3) .
)] ‘
D@ Article 5(4) ¢, -, |
o , ,
Pe(4) Article75(5) b
(5) Question not ;%ftemlﬂ)it‘éd
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118, YR dfawm % Fefafa CICHE
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112. Consider the following statements

about/the preamble of the Ind1an

Constitution :

(D In the Union of India v/s
Madan Gopal Case Supreme
Court held that the preamble
can be enforced in the court.

(II) In Berubari Union Case

’ Supreme Court stated that
preamble aids the legal
interpretation of the
Constitution  where the
language is found to be
ambiguous.

113.

R

Y

A
d

Correct answer is -

(1) Only statement (I) is true.

(2) Only statement (II) is true.

(3) Both statement (I) and (I)
are true.

(4) Both statement (I) and (I)
are false.

(5) Question not attempted

In which of the following articles of
the Indian Constitution, the
fundamental rights are given only
for the citizens ?

(A) Article 15 (B) Article 19

(C) Article200 (D) Article 28

Correct answer 1s -

(1) Only (A) and (B) are correct.

(2) Only (B) and (D) are correct.

(3) Only (A), (C) and D) are
“* cortect. a

@ @), ®, (© and. D) are
‘ correct e v

T

(5) Questlon not attempted
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114. geH. & foudid doem aifyfeew, | 114. By the Constitution (Eighty Sixth
2002 g e S dte B £ | gmencnery) ek B e
e SeaT ! i Wﬁﬁ T e Constitution of India- have been
Tepa =T ? inserted and substituted ?

(1) 3T 21 e 44 (1) Article 21A and 44
(2) =T 21F T 45 (2) Article 21A.and 45
3) w 21% Q-a- 41 (8) Article 21A and 41
: (4) Article21A:and™42- 5
4) ITT 21 TH 42 (4)  Article-2TAand 42
§5; STRE T A (6) Question not attempted
115, Tr=faRea 3 9 wh o gm o gfaa i g 7 1%5 Wltuch ont:l of thtelfogeﬁwmg pair is )
] ) | © not correctly matche
T B <A ( o (Directive (Article)
ﬁ%%ﬁ_ﬁ) ?‘ﬁ’i Principles of
(1) FAHTEEFEA — ATDG 41 | po, State Policy)
AT st &1 (1) Provision for Just — Article 41
and humane
T ST ST 1 conditions of work
ERCR] and Maternity
(2) el EEEREIH — T4 o) relief
: @“? (2) Promotion of Co- — Article
HaeH 439 It 22 '
. S ¢ operative societies = 43B.
3 ?ﬁaﬂ'{ TYIRH ST — T 48 @E (3) Organisation of — Article 48
Lz agriculture and
(4) R — TR 50 animal husbandry ‘
4) Separation of — Article 50
AYITICTHT 1 . () Sep
; Judiciary from
JIFRTT g Executive
(5) oTTia U (6) Question not attempted

116. Y1 % ®EUH ¥ AgeRg 51%(H) ¥ | 116. Which of the following is the
3foefaa sreeaet &1 PrifRea i | @ correct order of terminology as
Sevard T I g%g mentioned in the Article 51A(h) of

e 7 . the Constitution of India ? '
. P
(1) THRH Y 9EHT, TR, 3% | g (1) The  spirit  of inquiry,
qﬁ@wa%n‘ Humanism, scxent;fjg_ temper
(2) WFEET, $ 1 v, At | and reform
? R 2) Humamsm, . the, sp1r1t of
g&ﬁwwg&m ) inquiry, sclent1ﬁc temper ‘and
3 amﬁ-q\;-%-fgq.ﬁm W-ﬁm ; reform ' .0 =
®) mﬁ (3). , Scientific temper, the spirit of
. GERTETATSER L8 Vinquiry, réform and himanism
(4) §TE g, m 3 g:‘ (4), Scientific ‘temper; humanism
mtihamgwﬁmm = anf._d the spirit of i inquiry and
.t R A ! rerorm byorEE :} ’
®) BEE” SRl . (6) Question not attempted
03& !. ni,_',;:_
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18.

' 117. Under provision of Constitution of

India, the Supreme Court may
make rules for regulating generally
the practice and procedure of the
court with the —

(1) assent of the President of
India.

(2) recommendation of the

President of India.

(3) approval of the President of
India.

(4) instruction .of the President of
India.

(6) -Question not attempted

Consider the following statements
regarding emergency powers of the
President of India :

(@ It is the duty of the President
to protect the states against

external aggression and
internal disturbance.

(ii) During emergencies the
President can order

suspension. of the enforcement
all the rights conferred by
Part IIL.

Select the correct answer using the
codes :

Codes : ‘

(1) Only (i) is correct.

(2) Only (ii) ig correct. "
(3) (i) and (ii) both are correct. °

- e,

(4) @) and (ii) both are incorrect.

''''' trer

(5) Question not ‘ati:,emf)fe(li
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119. TE-1 =1 g=h-11 @ gafm #t ik ghei

120.

03

2 o 7TQ e 1 ST e T IR
o™

gEl-I gei-II
(IR Sy & wEaw)  (Ig8Y)
A, G951 HeAl i

U 9%

B. =¥ ferehia femwor (i) 110
C. “g7 faduss” Hrafomer (i) 112
D. @A
.

A B
® @ @
@ Gv) @D
(3 Gv) (i)
(9 @) G
(5) TR

@ 116

(iv) 108

cC D
Gv) (i)
@ @)
@ o
© D)

YR & wfoum & foifea § @ fea
Irgede ¥ ‘Remm R ¥ ofm Yo
e A fteiar oK ufRE W
=N WMEeE g s BAT
SETEH! Tl Seeid AT TR R 7

(1) sg=de133 .

(2) - g6 184

(3) @‘1354 .
@ omeise,
(5) STIaRa T

LI B B -

776893

776863

119,

Match List-1 with List-II and select
the correct answer by using the
codes given below the lists :

List-I List-11

(Provisions in Indian (Articles)

A,

C.

-

D.

N
4y
ik

i%0.
froe

116893

-

B.

Constitution)

Joint sittingof hoth (@) 116
Houses of Pariiament

Annual finaneial
statement

Definition of “Money (1ii)112
Bills”
Votes on account
Codes:
A
1 @ G
@) Gv) @
@) Gv) Gi)
@ @) @)

(i) 110

(iv) 108

H

B C D

Gv) (i)
® G
@ @
® @)

(5) Question not attempted

Which of the following articles of
the Constitution of India mentions
the :terminology that the
‘durisdiction and powers of federal
court under existing law to be
exercisable by Supreme Court’ ?

(1) Article 133

(2) Article 134

(3) Article 185 - ' - v
(4) Article136..

(6) Question not a}_t;t‘elygtlec\l

1 ]




121. TiEeH & T-gmEe g § S a1
T TSI Hehe SRR STH ARl
TS YT § U8 T SIS H ST g 7

(1) IS S SN T IR §13 ST
(2) uigm o= M §Har 9 9g9H
wyftrenT ayf= %
8) R o s m sfmard a%m
T& S 3 I~
(@) sRer Rwam sm sfovam e
YIS S99 BiFan
(5) e S
122, G-I TG-S T GATA R oy
T i S
(R Ry o
TR e
A, T (1) I2 unon R sEs
A=A &1 &1 T 1
TNTETR |
B. &% (u)aaﬁm%qﬁm’g
RREdfte s
STHTHA TR o
ufEdT 8l | e
C. foreiwar (i) el e S1eran el
I IAC HH I '
qrEar
D. ?Hw (1V)W%%W@m
TEE] R S ST tz.@

mﬁﬁw%mmm..h
A B C€C D

D @ v Gy O

2 @ G) v @

@ O Gy @@ b

@ @) G @O @

(5) AR SR

121. In psycho-social theory of Erikson,
which psycho-social crises precede
and succeed autonomy v/s Shame
and Doubt ?

(1) Initiative v/s Guilt
Industry v/s Inferiority

(2) Industry v/s Inferiority and
Identity v/s Role confusion

(3) Basic trust v/s Mistrust and
Initiative v/s Guilt

(4) Basic trust v/s Mistrust and
Industry v/s Inferiority

(3) Question not attempted

Match List-I with List-IT given

below :

List-I

(Piaget’s

Concept)

A. Conservation (i) The assumption
that one’s way of
thinking is the

" only possibility.

(ii) The principle that
quantities remain,
constant under
various changes
in their
appearance.

C. Reversibility (iii)The ability to

undo mentally,
an actionor -
operation.

D. Egocentrism (iv) Attending to only

one aspect of a

and

122,

List-II
(Description)

B. Centration

situation.
Select the correct code, from the
following :
A B C D
1 @ v G @ .
2 @ G @) @
@ @O @) @@ @G

(4) @) Gv) @ @)
(5) Question not attempted,
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123.

124.7

125.

P & @ B o i B
Tt

(1) safRI-et-AfR AR E |
(2) T 6 wht s § it
gargl o)
@ WWT‘W’@W%@
@ it o S B i T
.mﬁmﬁﬁaé?ﬁ‘él e
(5) NG S
Fryiireaeen § R O o
AR iy ewaE 7 e
(a) eI ' o0
. . (XM
) R b~
(c) I A
) wFEaAIE |
ﬁ%ﬁqmﬁwﬁfﬁmww
T T ;
Q) FEO),QIFD G
@ @ OMD (B
3 (0 MW@ -
(4) e (a), (b) 3R (@)
(6) FARa T
SR ¥ IER, e e A e
mﬁwm,@wﬁ UM
e R E A IETHRAE ? %
(1) TRaTeR e o
(@) il Fae o
(3) T whRaT IR |
(4) TehaTcHeh T
(5) RN T

- 123.

124.

125.

Which. of the following is not the
characteristic of emotions ?

(D)
@)

Differ from person to person.

Present at all of

development.

stages

)
4

Have quality of displacement.
of emotions &
-are positively

Upsurge
ir1(te11igence
related.

(5)

Question not attempted

Which of the following are the
characteristics of cognitive
development during adolescence ?

(@) Imagination .
(b) Thinking and reasoning

(¢) Abstract émotionsd :

(d) Span of attention increases

Choose the most appropriate
answer from the options given
below :

(1) (), () and (@ only

@ (a), (0 and (@) only

(3) (c) and (d) only

(4) -(a), (b) and (d) only

(5) Question not attempted

According to Bruner, in which

stage of cognitive development do
children learrn and wuse the
concepts, formulation * and
calculations ? -

(1)
()
3
4
()

Enactive stage

Iconic stage

Concrete operation stage
Symbolic stage

Question not attempted




126, @ gelem oggeh #§ woft ) % | 126. The reinforcement schedule in
YR FHFAT B HE H e Eﬂﬂ'ﬁ? which the organism receives

|
reinforcement after each |
THeTeT &, 38 et T - appropriate response is called — 1
(1) if¥rh gadert st gi (1) Partial reinforcement schedule 1
(2) o gAee e ﬁ (2) Continuous reinforcement
@) e S rime schedule 4
, (8) Interval reinforcement schedule
(4) I Glor g
(4) Ratio reinforcement schedule
(6) IgaRay=
- (6) Question not attempted
&5y

. ; @
127.ﬁn%ﬁgaﬁ@:aﬂ:rmm&ﬁmmw@ 127, Which of the following laws is not (

e aa=Re adid 7 Eil":; related to principles of perceptual
| organisation ?

1) & & Rm
@ (1) Law of similarity

@) 1 (2) Law of proximity

(3) T =7 fam g% | (8) Law of effect

4 wwHEtE é%? ' (49 Law of transposition
P

(6) Igia Brme (5) Question not attempted

128. TFETE % 91 # ffaRes § & 9 @ | 128. Which of the following statement is

— | ¢orrect about constructivism ?

4

&y ) L . .
D mmﬁtm amrrﬁa% i %ﬁg : (1) earning i8 based on

repetition.

(2): Learning is expérience based.

(@) it Fferr g d : (8) -Learning is passive.
(4) e T RO SR g1 | (4) Teacher transfer knowle dge. )
(6) FARAYH (5) Question not attempted |
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' 129 &
e
l m
i gﬁw a‘%‘
2 3R SR
Ri
2) mﬂm 3~ '"129_ “Hum
(é m@m:fmﬁm o b;rlll behaviour 1
) A : envir the ris t _
(4) E‘F[ 3:|'f%|'r]1:[ . (1) ;nment 2] T personhe functi
N aielt & je o thoory” and the
®) g S @ T theary rogenta—
SR g o Th ke of
130 ¥ firgra & (@) Leolf“dike’;g classical
R F i~ iy s connectiont
e oo g o sonin
T o Rl ® e s, theory - of
TR % el HTHR ) itionin eory
$r A y = » | 180. A Question o of operant
HET 3fa:femam A » Accordi ot atte
FHEATT & :Foren e ng tempted
(1) ﬁaﬁﬁf % T e ggnStruct'iVi to
a1y Wy n st
(2) w-rqq; ﬂ:g‘% lea:truction theo Bruner’
= oy in ner th of kno X S
(3) fenry i }:{dependelifiugh hisWle,dge b the
3 équr = 41 .
4) st P S environ y by int owe -effy >
A e envonment ¢ crecting with
6)] At (2 Co ided IEarninaued: with
313?'? n g
131 3 T (3) Di ‘Ceptual Jearni
) HHRS ) Plscovery lea e
(& AT % oy O rogram ring
) ArHfREE TEE f?i () Questi med learnin
(b) TR o lon not ning
(c T AT g:fl- Chara attempted
(d) St a6l fo hea]thc;izistics of .
) Trafe T @ : good
CERTORI) sfier rfeferferat (b) Self confiden mental
< ettt
% | PR Ability to talk Stability
( ol Regular Ii e decisio
1) (a £33 Sel r life ns
I ) T oo ect th activiti
@ (), G ®) o codes give correct wee
@) , () T (©) i~ Code e correct answer using ¢
@ (@), )T () ‘ (1) (a) and
o5 6)) . c) T (d) @) (a), () ®
T S 3 ®)( and ()
@ , (¢) and
) (@) CY
L Ta (5 ’ (C) and
) Q )
!} 4 uestion
Z not attem
pted.
-

-



132. TF WTelsh 31T PRt o1 T o
@ﬁ%ﬁémuﬁﬁﬁam‘%ﬂsm%g@
(1) SiBFER 2
(2) wieFTH -%‘E
(3) w8 )
4) RemmE
(5) orgeia s
133. Ti-1 =t gE-11 & gafkm =t aﬁuﬂ%g
R A vl smF TR 9
-1 o ™
A @R F e () @ iy Ag wS |
1 AT IqH BT
B. dsdi =l (i) Fom AR WISy
HHTET ﬁmmé‘?
C. WRHISTI ST (iii) okl 1 STediat
SECT] % FEAREM T
AN
D. I %I (iv) 3T eI <hl
TieaTied BT wwﬁrwﬁwﬁ%
%z P
, A B ¢ D
M @) (@) G @
@ Gi) Gv) @ @
@) @) @) v Q@) g
@ @ @ @D (@) |
(5) g e |
Q < 48

132. A child reflect his anger from his
parents to his younger brother, is
an example of — '

(1) Reaction formation
(2) Regression
(3) Projection
(4) Displacement "
(6) Question not attempted
133. Match List-I with List-IT and select
the corréct answer from codes
given below :
List-I List-IT -~
A. Knowing 6)] Marshalﬁng
one’s own emotions in
"emotion service of goal
B. Handling (ii) Handling
relationships feelings and
emotions so
they are
appropriate
C: Managing (iii) Having skills
emotions In managing
emotions of
others
D. Motivating (iv) Monitoring
oneself feelings from
moment to
moment
Codes :
A B C D
D, Gv) G G @
(2) @G Gv G @
(8 Gi) @) Gv) @)
4 @ @O G G
(5) Question not attempted
( 03
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134, PG wr IR AER W MEEE

L

"RETH %1 THR AT 8

(1) =IEEes e

@) =R e

(3) AT Py

(4) Siftgss Frdzm
(5) TR N

135.ﬁﬂ%ﬁ§ﬂﬁ-ﬁmﬁmﬂ%§ﬁaﬁ

wE Tl SATeher Y STImICieRa e
S E?

(a) A

(b)  rfremar Tl

© wwmR

@ oo Rt

2 Y W HT F ST FH & FH |

W) (@7 )
@ ®F@
@ ®TE
@ @

(5) ITgaINT ¥R

136. PrfaRed § @ = o T 6 D
CICIE R R

D
2)
@
@
®)

g

S 7 T
T @ FH
-

. 184. The type of guidance given to"

l
|

135.

adolescents to solver their mental
and confidential problems is called —

(1) Vocational guidance
(2%% Personal guidance

(3)%}% Cooperative guidance
(4%:: Educational guidance -

(5) Question not attempted

Which of the following are non-

standardized techniques ©  of
-asgx:aﬁssment in guidance and

coig%:sellmg for mental health ?
(a);;: Questionnaire

(b) Aptitude test

(¢ Sociometry

(d)' Personality inventory

Select the correct answer using the
co&gs given below :

(1)?:5;‘%3?i (@) and (b) -
(2~ (b) and (d)
(3 (b)and (o)
(4) (2) and (c)

k]

- (5) Question not attémpted

o3 .
136. Which of the following is mot -the

inﬁ%?ﬁnél barrier of communication ?
(1 Prejudices

(2)
(3)
(4)
6))

‘Non-attention
Invisibility
Poor previous learning

Question not attenipted

§




137.

138.

FHH-F4 T FA-GE AR BT I
FW TR TEH I999 $ fau grlesis
forgra v ER =iyw 2
(a) EI?%"IWHT fgg
o0
(b) ST 0
() s e
= e 2 5z 1 T o W SR
T HI :
®”: P
(1) <3 (a) 5%%
@) ¥ (b) P
3) ()@ (b)
4) (@, (E
ORE ik
&
oty
B Frew whEE F wgh i wiREhe

CECC NS Rt S S

(1) v Rt frew e Bt aw §
Tt =i e s ® |

2 fawa % aftepin av fER Tl
. Wga R W g, ﬁ%@ﬁiﬁl

(3) Tafdme 3u- aawmwﬁ
WE | ~

@ = RRE § 9 ae-uey
H :{‘5°f l t
(6) TG S

187. While. using audio- visual aids in

138.

“the classroom, what.should be’ %he

guiding principle for its select;on ?
(a) Usability
(b) Availability- +

© Relevan‘ccle»

Select the correct answer using the
codes given below :

Codes :

(1) (@only -
(2) (b)only

(3) (a)and (b)

(4) (a), (b) and (c)
(6) Question not attempted

The
differentiation’ in

term ‘Progressive
context of

advance organizer model means -

(1) specific ideas arée presented
first then generalization ig
done.

(2) most general ideas of the
discipline are presented first
then specific.

(3) specific sub
presented first, .

concepts are

(4) general and specific has no
correlation. _
(6) Question not attempted
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139. wedrlt wfrm wRRel § @ §
frfiiaa A HH W LA TR 7

(1)
2
3

@
®)

i et - e e e
wede fim i s — et
g T

140, fremr-afrm shen § R wEEd

zar H fydrward frferfea 3 4 $9 €@

&2

(a). = firgm W T8 e de |
TaTg

() fremef 3 E-77 @ oA F
3ief Freprera & |

(¢ TfaREl wer daers W oF
HAE |

£ R 2t B wew A S H |

Wiﬁfﬁﬁq'
CTE

D)
(2)
®)
@
(5)

(a) 9= (b)

&) 7 (©
{@Tme
(a), (b) 7T (c)
FE S

|

v

51

139. With reference  to cooperativé
learning technique which of the
following pair is incorrect ?

(1)
@)

3
4

(5

Jigsaw technique — Aronson
Learning together — Joyce and
Weil

o
S,,gudent
;%] p .

piogram — Slavin

E{;oup investigation — Sharan
and Sharan R
Question not attempted

team learning

140, Which of the following are the

characteristics of constructivist
& . .
approach for teaching-learning
proce:sfié?
E‘ﬂm [ -
(@) Focus is on learning not

teaching.

(b)

Students make meaning from
gﬁeir previous knowledge and

8Wn experience.
L5

()

EH"’“: « s, . .
Che activities are interactive
and student centéred.

Select the correct answer using-the
codes given below :

£y
Code;%
® @and @
@ (®)and @
- (@ (2)and (o)
@ (@), () and (©
(5) Question not attempted




141, a‘a’sﬁma‘rwaﬁwﬁﬁmﬁ%

142,

143

(1) TR

@) Rrew dirdmw

(3) R

(4) TP HERR e

(6) s s &

o % e we @”’5'?3:% e
9 A =rafer Hife

(@) W

®) o

(¢) TiaEwi gey {@%

(d) wfem o

8 SW w1 T AR RS Pﬁir = #i |
Harar i -

E@E

(@) @, ), (2), @

@ O@ee

@ 0.0,

@ © @ 0.@

(8) eI .

. Toreht e farvr @ et vt A e g | 148,
Tafire yepwall i %R w0 T e
UEEH 3TICIH B $H T n’@wﬁn q
g ? em
(1) fa= ik snamg ??i
(2) e "

(8) T fdw
@ i
(5) IIgERd

y -‘n
n

¥

o Ty ®, wEear § -

52

141,

142,

Program that is necessary to
operate the computer is known as —

D
2)
3)
)
()

Hardware

System software
Courseware
Application courseware

Question not attempted

Arrange the following components
of a system in their correct order :

(a) Output ’
(o) Input

(¢ Environmental context
(d) Process

Select the correct ahswer using the
codes given below :

Codes :

D ©, 0, (@, @ "
@  ®), @), (@), (©

@) ®) @), @, (©

@ (), @, (), (@

(5) Question ngt attempted
Which mode of computer assisted
instruction is used for covering

already learned specific topics
related to a particular subject ?

ey
)
3
(4)
(5)

Drill and practice
Educational games
Informational instruction
Tutorial

Question not attempted

03




145.

144, Frefefaa § & o W aobriiohl FFR
HEE SeTH H IR STSYEIHS
iR % frarerm % o e e ?

(a) EEIH
(b) TR
(© EICCR
9 R g2 1 ST B TE TN F
- &5
6
w© I
(1) %99 (a)
(2) % (b)
v
(3) ()T (b) g%;
el
(4) (a), (b) T (c) Ez
(5) TG T
fareror— iR whw § TSEd (ICT) 1 | 146.
Thipd A 1 FEiEa H g oA o »
AR ? S
(1) T R St T s (e
TR T | [
@) 7 P 1 et s |
P sy daa S g | |
(3) & B 1 TU Hwet R w A } ;
T FATE | ﬁéﬂ;
@ = feh o, S o
Heg HT ] | %
(5) AN ¥ |
53

- 144, Which ‘of the following technology

is responsible for the
implementation of instructional
activities conducted in computer
assisted instruction ?

(a) Hardware
(o). Software

+(¢) Courseware

Select the correct answer using the

codes given below :

Codes:

(1) (@) only

(2) (b) only

(3) (2) and (b)

@) (), () and ()

(5) Question not attempted

Which of the following is not the
advantage of ICT .integration in
teaching-learning process ?

(1) It creates interesting and
effective learning environment.

(2) It passively engages learners
in the learning process.

3 It helps _a student in
developing new skills.

(40 It  Thelps for anytime,
anywhere learning.

(5) Question not attempted

- 1




146. Fr=feilaa 3 @ =9 3 &3 Rran wifEE

147.

148.

| TR Afvmwal vy f aRRE € 7
) R fowsfson
() Tl s=fee

(i) s

@(v) mmaﬁmﬁm .
(v) IR T gg;
(vi) =g it éfz
A= o 2 &t T Sl R 3w A TR
1 9 HIR »

(1) @, (), i) 3K (v)

(@) (@), (i), ) W) gg:
@) (i), (@v), (v) 3 (vi) g%r
@ @), (v), (v) IR i) g:
(6) A

a0t ritem wiiFen 3 v R
% forq et soenht st T gt 7

(1) mmmﬁaﬂtmnﬁairmﬁ%
(2) TR % 1Y GHE S FOH g*gf
3 TREnRiat e ver wirayf ag ‘43"
(4 sAftrm I A wf ?‘*“"
(5) ITgaRa W

TRerfied 3 & 1 w1 e R & fm

Rt S e s we T @ 7

) ﬁmﬁiﬁﬁm%ﬂwsﬁu
! qgEEA o

@ ﬁm&fmaaamﬁmaﬁ%“"
i §

(3) mmm-ﬁmwaﬁaﬁ

(4) wgniERHEEE T

®) JgEiasE ..

146. Which of the following areas arey |

147.
"useful for

148.

included in the learner aspect that
concern to the educational
psychology ?

(i) Motivation for learning

(i) Personalities of students

(iii) Intelligence

(iv) Diagnosis of learning problem
(v) Psychological problems

(vi) Individual differences

Select the correct answer usmg the
codes given below :

(D) @), @), (i) and @v)

(2) (i), (i), (v) and (vi)

@ (D), Gv), (v) and (vi)

4) (@), (iv), (v) and (vi)

(5) Question not attempted

Where does Psychology not seem

students in the

teaching-learning process ?

(1) In knowing about our abilities
and potentials.

2 In adjusting to the
environment,

(8) In increasing competition
among students.

(4) In achieving learning
objectives.

(6). Question not attempted

Which of the following statements
does not explain the importance of
educational psychology for a teacher ¢

(1) In identifying " the
: developmental characteristics
of students.

(2) In accepting the individual
characteristics of students.

(3) In neglecting the problems of
exceptional children.

(4) In understanding the group
dynamics.

(65) Question not attempted
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149, f TR B e & TR 3 |

150.

03

149. Following are some statements

e Praffea &

H () e wRifesm & o g,
Trey o 9% 1 I S S
et Sea B 1 srEnd 2 |

wor (b) : f wREE § a0
e 2 & TR w Fred |90
e fa A E | o

e (c) : T W & Rege @

TR s & @ T & e |
$3 Rl TR e T S i W TR |
A iR 2
e

e e

() e (2) T (b) TEE |

@ @t |

@) (@), (k) T () TEE -

@ (a), (o) T () TR | }%%

(5) JaRa ¥ o

iR 3 s, Frerffea § A | |

T TS R o SR U R & 7 p

(1) ws R %ﬁ

(@) SR T E“?

(3) gl et il

(4) 3T IR STREA {

ROR IR |

55

related to the limitations of

educational psychology :

Statement (a) : Only knowledge of
principles, rules and facts of
educational psychology are

unable to create an
environment of proper
learning.

Statement (b) : Due to more
subjectivity in educational
psychology, the results and
conclusions are not reliable.

Statement (c) : The principles of
educational psychology can
not be used objectively.

Select the correct answer using.the
codes given below ;

Codes:

(1)
)
3
@)
(5)

Only (a) and (b) are correct.
(c) is incorrect.

(a), (b) and (c) are correct.
(a), (b) and (c) are incorrect.
Question not attempted

150. According to psychology, which: of the

following is not the organizational
component of an effective school ?

(1)
@)
&)
@
(5)

Staff stability
Instructional leadership
Curriculum articulation

Order and discipline - -
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